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����� 2

���(2 �2����  !���91��	�

1. ���(2!���2���� #��	���.�
1. ��)Z�.��[3���������	D�82(� ��)Z�.��[3��/����.�� 1 (P1) .��[3� CLN 2116 B (P2) 

��)Z�.��[3�)�(H�����
�/� 1 (F1) ��)Z�.��[3�)�(H�����
�/� 2 (F2) ��)Z�.��[3�)�(H��()� 2�� (BC1) 2)�
��)Z�.��[3�)�(H��()� .�� (BC2)

2. �3,(�=���1(���(<��
- ./���� ��8�5�F�� �.����)Z�.��[3�
- ���H��,)�( ���� ,3M�9�( 2() 
- (��4�1.)����(������8�H���	����()�1  12 ��E

 - �3�(�� ��.���8�()8�
- D�89E5�����8� ����(m�1
-  .)����(9)3�.�E� 
���3(���(<�����1R  ���� F�
\/��E5� .)��
 �����1
- (�� �(\/���w��2�)1
- ����9�/,q�1(��(5����G�92�)1���1R ���� �Jm
���� 85 ���,q�1(�����E��� 9���)���8  u)u
- ,3M��9�/ ���� ,3M� ���� 15-15-15 ���� 21-21-21 ���� 46-0-0  2)�[��3��F����������1R

����� � .��  u)u
- �3,(�=��5�F�� ��(��H���(�� ���� 9/�9/  (��D(����()/ ��( 2�)(���))�

�5�)/F38���( ,q�� ���N(�8���) ����(�8��H�( �9����1F��� 431J� 
- �3��3,(�=�(���F8��  �E5�F�����G����� 2)���  (���F8,3M����G�����

2. �2���� #�7%���R9��
9�	�
- �9����1���1�E5�F��()���/�� 2 �5�2F��1
- �9����1
��9
��2������E� ( Penetrometer)
- �3,(�=�
�������
�����/���9�))��.���
- �9����1
���,����JZ����E5���) (Hand refractometer)
- (����<��/� �/ R.H.S. Colour  Chart in Association with the Flower Council  

of Holland and the Royal Horticultural Society  London
-  /(�(��� �
�\/��E5�()��� F)��F�� H8�(��1 (�
�2(8
 431.)����(�������1R
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3. �91�(�	��9��	�
1. e��,)�(�/� 1 �5�(��H���8����F
��1.��[3�2��.��[3��/����.�� 1 (P1)  2)�.��[3�.��

CLN 2116  B  (P2)  �.���H)��)�(H�����
�/� 1  (F1) )�(<=�,���5�.��[3���1.��[3��/����.�� 1 �,-�.��[3��/���
�8�� )�(<=�H)�,-�2  ��,D�� (Ovate shape) �/�E5�F��(,����= 30 (��� H)�3(�/��.��8�  �/(��
����]��� G�2  (N�1�)�E��  2���,-�.��[3��/�����2����G�9  H��(� .��[3� CLN  2116 B (P2) �,-�.��[3�2�8�����G�9
�F/��
 2)�G�9� ���1�/��(����(���E�D
���   F��� TMV  (tobacco mosaic virus)  �/)�(<=�,���5�.��[3� H)�,-�2  
��1(�� �( (cylindrical) �E5�F��(H),����= 60 (��� H)�3(�/�/2�1�/(������]��� G�2  D��
������ ��e���/E�5�(��,)�(.��[3�)� 20 �8� �������( ���5�(��H���8����F
��1.��[3� 2)�9���)��(H)
�/��� ��=�D
8 �.����(Z ��)Z�.��[3�

2. e���/� 2 ���5�(��H��()� ��F
��1)�(H�����
�/� 1 (F1) (� .��[3�2�� (P1) �,-�(��
��8�1)�(H��()� .��[3�2�� (BC1) 2)�H��()� ��F
��1)�(H�����
�/� 1 (F1) (� .��[3�.�� (P2) �,-�(��
��8�1)�(H��()� .��[3�.�� (BC2)  2)����=���/�
(��(Z,)����F8)�(H�����
�/� 1(F1)  H����
��1 
�.����F8D�8)�(H�����
�/� 2  (F2)  �)��(H)��)�(H��()�  2)���(�8� F1 �/��� ��=� �.����(Z ��)Z�.��[3�
��D�8��8��e��,)�(4��D,   

3. e���/� 3 �5�)�(���
�3���/� 1 (F1) )�(���
�3���/� 2 (F2) 2)�)�(��((��H��()� .��[3�2��
2)�.��[3�.�� (BC1 2)� BC2) ��
�D,�8
�.��[3�2�� 2)�.��[3�.�� (P12)� P2) ��,)�(.�8��(�� ,)�(
�������(���( G����82H�(����)�12   )�(�3���� ��=� (Randomized Complete Block 
Design, RCB) G�����
�3�����1R ��E1 6  ���,-���/�������/����� �,�/� ��/�  ,)�(�5��
� 3 JE5�   
2��)���/��������,)�(�8
��5��
��8�D������(�� ��E1�/E�����1��(�/���� 9
��2,�,�
�;����2��)���/�
�����D������(�� ,)�(��(��4�1������8�H���	����()�1 12 ��E
 1 �8����(��4�1 �5��
��8� (F���
�5��
�(��4�1) �/���8 �����/������ ���JE5��/��1�/E

1.   .��[3�2��  (P1)  ,)�( 10 �8����JE5�
2.   .��[3�.�� (P2)  ,)�( 10 �8����JE5�
3.   .��[3�)�(H��()�  .��[3�2�� (BC1)  ,)�(  20  �8����JE5�
4.  .��[3�)�(H��()�  .��[3�.�� (BC2)  ,)�(  20  �8����JE5�
5.   .��[3�)�(H�����
�/� 1 (F1)  ,)�(  10 �8����JE5�
6.   .��[3�)�(H�����
�/� 2 (F2) ,)�(   40  �8����JE5�


�[/(��,)�(��������8
�(���.��()8���(�� ��.�� ���8�()8����3,����= 20-25 
�� �N1�8��)1,)�(
��(��4�1JN�1�/���H��2)��/(���F8��  �E5�F���5�(����)�1�
��5��
���E1��E� 330 (��4�1
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4. �Q	������	�	��9
�'�	��(���
�����(���(  9=����.��(�[������� �F�
����)���1�)��9������ 
�������F���F]�

5. ��'����	��	�	��(���
(������ 2546- ��1F�9� 2548

6. �	�����3��%��.�
1.  9
����1��1�8� 
����(G9��8�4N1,)�����G��
��9
����1 2 ���� 9��9
��

��1��1�8�������(2�( �� 2)�9
����1��1�8�F)�1(���(Z �(/��
 (�J�������)
2.  ���3(����(��(G���� �5��
�
���/��8�()8�)1,)�(��(��4�14N1
���/���(

 ����(2�( G���5�(�� ���N(�3(�8��/��5�(����)�1
3 .  �5��
���(������
4.  �E5�F��(H)  (F��
��,-�(������H))
5.  9
��(
8�1H) G���5�(��
��G����8�
�����/���(��
��G��
��9
��(
8�1��(

 ���
=��
�()�1��1H)�/�(
8�1�3� (F��
��,-���)�����)
6.  9
����
��1H) G���5�(��
��G����8�
�����/���(��
�� G���5�(��
��9
��

��
��(��E
H)4N1(8�H) (F��
��,-���)�����)
7.  9
��2������E���1H)G����8�9����1
��9
��2������E� (penetrometer) (F��
��,-���
���)
8.  9
��F�����E���1H) G���5�(��H��H)����
�1 2)8

����
���1���E�4N1�,)��(

G����8�9����1�
�����/� (F��
��,-���)�����)
9.  �5��
����1
��1;����H) ( locule ) G���5�(��H��H)����
�1 (F��
��,-����1���H))
10. 
��,����=��12�Z1�/�)�)���E5�D�8 G���5�(�� �H)��������	�/��3���.�
��G��

��8  �9����1
���,����JZ����E5���) (F��
��,-��,����JZ��� ��(J�)
11. �5��
�H)����8�
12. H)H)������8� G���5�(�����1�E5�F��(�
�H)H)������8� ( F��
��,-�(�������8�)
13. �,����JZ���(�����H) G���� �5��
���(��(�3(�����( 2)��� (�����H)��(

��(�/�D�8�� (��H�����2)��(���,-��3��H)
 ��(����         �5��
�H)��E1F��   X  100

�5��
���(��E1F��
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14. )�(<=�93=;�.�/H) G����8(����<��/� �/ R.H.S.Colour Chart in 
Association with the Flower Council  of Holland and the Royal Horticultural Society  London

�91��	��9�,�	�7 �%��.�

1. �	��9�,�	�7 �%��.� ���5�����(�� 2 ��E���� ��1�/E9��
1.1 .  �	��9�,�	�7 ,�	�!������
 �.������� 9
��2�(���1��1�4�����F
��1���
�3�� JN�19��9���\)/����1���
�3�����1R   

6 ���
�3�� ���� �8
� F-test  ( Steel and Torrie, 1980)
2  �5�)�1��19=��	����� 9��
Yij = µ + Ti + Bj + εij
����� Yij  =  9����1�(���1���
�3���/� i

th  ,)�(�� )�(�/� jth

i     =   1���t  (t =  �5��
���/������  F����5��
����
�3��)
j    =    1���r  (r  = �5��
� )�( )
µ =    9���\)/�����
D,
Ti =    ���[�.)��1��/������ ( ���
�3���/� i

th )
Bj =   ���[�.)��1 )�(�/�  j

th

εij =  9
��9)���9)����JN�1�/(��(�����2  ,(�� �/9���\)/������(�  0  2)��/
���/������(�  σ
2

                ��(��
��9���F�9
��2,�,�
���(5�F���F8��/������ �,-�,6����91�/� ��
� )�(�,-�
,6�����3�� JN�19��  expected mean square 2)�(������ ����5�9�]D�82��1D
8������1�/� 1

	�	���� 1  (��
��9���F�9
��2,�,�
��/9�� expected mean square ( EMS) 2)�(������ 
                      ����5�9�]��1�/E

Source df MS EMS F

Block r-1 MS1 σ2  tσ2B MS1/ MS3
Treatment t-1 MS2 σ2 + rΣTi

 2/ (t-1) MS2/ MS3
Error (r-1)(t-1) MS3 σ2

Total rt-1
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 1.2   �	��9�,�	�7 ,"	�I���'���$����2"�
)�(<=��/�. 
���/9
��2�(���1(����1�4�����F
��1 ���
�3�����5�(��
��9���F���1.��[3

(��� G��
�[/(��
��9���F�9���\)/����1���
�3�� (Hayman, 1958)G���) ��(��
��9���F� ��89���\)/����1���

�3�� F2 �,-�	����()�1 2)���8��])�(<=�����/�(5�F�� G��  Gamble (1962 ) ��1�/E

          1.2.1 Additive-dominance model ��(��
��9���F�F����[�.)��1�/�2  
���1 R G��(��
��9���F����
�3�� ��
��9���F�G����8 G���)2  1��� 9�� additive-dominance model 
JN�1���/�./�1 3 .����������(���9�� 9��.���������� m, a 2)� d ��(��E������� 9
���F�������1 
G���)G����8 D9�29
�� (Chi-square, χ2)  ��/�(
��
�[/ joint-scaling test (Mather and Jinks, 1977 ; Singh 
and Chaudhary, 1979)

Y  =     m     +  α  a  +  βd
����� Y  9��  9�� �\)/�� ��1 ���
�3��    (P1 ,P2 ,F1 , F2 , BC1,BC2 )

m  9��   9���\)/�����
�3���/� 2 (F 2)
a   9��  ���[�.)��1�/�2   
( (additive effect)
d  9��  ���[�.)��1�/�2  ���  (dominance effect)

9�����,�����[�d   α, β  ��2�(���1(�������
�3�����1(��  ��1��(�����1R ��1�/E

P1    =    m + a l  (½) d
P2    =    m  l  a  l (½) d
BC1 =    m + (½) a
BC2 =    m  l (½) a
F1    =    m + (½) d
F2    =    m

          1.2.2  Epistasis model  �����. 
��G���)�/���8 3 .����������D���./�1.���
��8G���)�/��
��/�����8��9�� (epistasis) �8
�9��G���) �/��/.���������� aa, ad, 2)� dd  �.����NE� 9��

 Y  =     m +  α  a  +  βd  + α2aa + 2αβ  ad +  β2dd
����� Y  9��  9�� �\)/�� ��1 ���
�3��    (P1 ,P2 ,F1 ,F2 ,BC1,BC2)

m  9��   9���\)/�����
�3���/� 2 (F2)
a   9��  ���[�.)��1�/�2   
( (additive effect)
d  9��  ���[�.)��1�/�2  ���  (dominance effect)
aa 9�� H)��1,�����.��[���F
��1�/�����2   
(  x 2   
( (additive x additive effects)
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ad 9�� H)��1,�����.��[���F
��1�/�����2   
( x 2  ���  (additive x dominance effects)
dd  9�� H)��1,�����.��[���F
��1�/�����2  ��� x 2  ��� (dominance x dominance effects)

9�����,�����[�d   α, β  ��2�(���1(�������
�3�����1(��  ��1��(�����1R ��1�/E (Hayman, 1958)

P1    =    m + a l  (½) d + aa l ad + (¼) dd
P2    =    m  l  a  l (½) d +aa +ad + (¼) dd
BC1 =    m + (½) a + (¼) aa
BC2 =    m  l (½) a + (¼) aa
F1    =    m + (½) d + (¼) dd
F2    =    m

(��
��9���F�F�9��.������������1G���)�����/������,��1 �����(J� (matrix)D�8
��1���D,�/E  2)��/
�[/(��2(8��(��F�.���������� ��( ��(���8�1�8� G��4�
1�3) (weighted) 9��
�\)/����1���
�3�����1R �8
���
�()� ��1
���/��J���1���
�3����E�R

C' . W . C = J -----------------------------------------------------------------     (1)
����� C  9�� �����(J� ��19�����,�����[�d  �/����  6X3

1 1 -0.5

1 -1 -0.5

C = 1 0.5 0

1 -0.5 0

1 0 0.5

1 0 0

C' 9�� transpose  ��1�����(J� C   (�/����  3 X 6)
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W = �����(J���19����
�()� ��1
���/��J� (weight matrix) JN�1�/����  6X6

1/VP1 0 0 0 0 0
0 1/VP2 0 0 0 0

W = 0 0 1/VBC1 0 0 0
0 0 0 1/VBC2 0 0
0 0 0 0 1/VF1 0
0 0 0 0 0 1/VF2

J  9��  information matrix JN�1  J  ���,-������(J�����  3X3
C'. W. O = S -----------------------------------------------------------------     (2)
����� O 9�� �
9�����  (column vector ) ��19�� �\)/����1���
�3�� �/���� 6X1

P1
P2

   O =               BC1
BC2
F1
 F2

S 9�� �
9����� ( column vector) ��1 scores �/���� 3 X 1
J  M  =  S             ---------------------------------------------------- (3)
����� M  9�� �
9����� (column vector ) ��1.���������� �/���95��
= F� 2)��/����  3 X 1
M     =   J -1  S   -----------------------------------------------------(4)
G��   J -1   9��  �����(J�H(H�� (inverse matrix)  ��1 �����(J�  J
9��9
��9)���9)����������� (standard error) ��1.���������������4,����=D�8��((��4��(�=��/� 2
��19����
�)��/����� ���8��2�1 (diagonal elements ) ��1 �����(J�  J-1  9��

S.E. (m) =  √ J11
S.E. (a)  =  √ J22
S.E. (d)  =  √ J33

����� √ J11 √ J22   2)�   √ J33   9�� 9����
�)��/����� ���8��2�1��1 �����(J�  J
-1
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(������ (��2��1��(��1�/�2  ���1R 
��2�(���1��(	��������1�/����5�9�]
��1�4���F���D��  ��89��9
��9)���9)����������� (standard error) ��19��,��������E� R JN�1
���� G����89��  t  (t- test)  JN�1  t   =  Mi  / S.E. ( Mi )  ����� Mi  9�� ���[�.)(��2��1��(��1�/��/���
�5�(������ 2)� S.E. ( Mi ) 9�� 9
��9)���9)�������������19��,��������E� (Mather  and  Jinks, 1977)

�������8 epistasis model (��2(8��(��F�9��.����������(Z�5�������/�
(�  additive- 
dominance model ���1(���/�������1 �����(J�  C  ���/����  6X6

����� C  9�� 2����(J���19�����,�����[�d

1 1 -0.5 1 -1 0.25
1 -1 -0.5 1 1 0.25

C  = 1 1 0.5 0 0.25 0
1 -0.5 0 0.25 0 0
1 0 0.5 0 0 0.25
1 0 0 0 0 0

���=��/� W 2)� O ��1�F�������� ��1��E� ������1  J  2)�  S ���,)/���D,�8
� G��
C'. W. C    =  J
J  ���/����   6 X  6 2)�
C'. W. O    =  S
S ���/����  6 X 1
M =   J-1 . S

M  ���,-��
9�������1.���������� �/���� 6 X 1    J  ���/���� 6 X 6 9����8��2�1��1 J-1 ���,-�
9��9
��9)���9)�������������19��.���������� ��E1 6

          1.2.3 Scaling test
(������ 9
���./�1.���1 3 .���������� G���)G��
�[/�/���(�F�����( joint 

scaling test D�8��8
�[/(������ ����/����� G�� Mather (1949)( �8�1�� Singh and Chaudhary , 1979) 
JN�1�/9�� scale �/���8 3 9��9�� A, B  2)� C  

A =  2BC1 - P1 - F1
B =  2BC2 - P2 - F1
C = 4F2 - 2F1 -  P1 - P2
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9��
���/��J���1 A, B 2)� C 9��   VA, VB  2)� VB  �/9����12��1
VA  =  4V(BC1) + VP1 + VF1
VB  =  4VBC2 +VP2 +VF1
VC  = 16VF2 + 4VF1 + V P1 + VP2
(������ 
�� A, B 2)� C 2�(���1��(	����F���D�� G����8 tltest  48�G���) 3 

.����������4�(�8�1F��������
���,-�������/��F����� 9��  A ,B  2)� C  9
����/9���,-�	���� 48�
9�� A, B F��� C  9����9��F�N�12�(���1��(	����  �,-�(�� �1�/E
�� ����(����((���/���[�.)��1�/�����(��
����8��9�� ( epistasis)

2.  ��
�	���12����!��!,� 9�� �������
���19
��2,�,�
���1.��[3(����/�
�(����(�/��/�2��1H)��2   
( ���9
��2,�,�
���E1F�� �����495��
=D�8 G��
�[/(����1 
Warner (1952 )

h2ns  =      2VF2 l ( VBC1+ VBC2 )
 VF2

G��  VF2       =     
���/��J���1,����(������
�3�� F2
VBC1   =     
���/��J���1,����(������
�3�� BC1
VBC2   =     
���/��J���1,����(������
�3�� BC2
��E1�/E9
��2,�,�
���12��)����
�3���/���8���,-�9
��2,�,�
���(��F
��1�8�

��1���
�3����E���(�3(JE5�


